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QUESTION 1

You are developing a polyglot serverless application using Oracle Functions. Which language cannot be used to write
your function code?

A. PL/SQL

B. Python

C. Node.js

D. Java

Correct Answer: A

The serverless and elastic architecture of Oracle Functions means there\\'s no infrastructure administration or software
administration for you to perform. You don\\'t provision or maintain compute instances, and operating system software
patches and upgrades are applied automatically. Oracle Functions simply ensures your app is highly-available, scalable,
secure, and monitored. With Oracle Functions, you can write code in Java, Python, Node, Go, and Ruby (and for

advanced use cases, bring your own Dockerfile, and Graal VM). You can then deploy your code, call it directly or trigger
it in response to events, and get billed only for the resources consumed during the execution.

QUESTION 2

You are working on a cloud native e-commerce application on Oracle Cloud Infrastructure (OCI). Your application
architecture has multiple OCI services, including Oracle Functions. You need to trigger these functions directly from
other OCI services, without having to run custom code. Which OCI service cannot trigger your functions directly?
A. OCI Events Service

B. OCI Registry

C. OCI API Gateway

D. Oracle Integration

Correct Answer: B

Oracle Functions is a fully managed, multi-tenant, highly scalable, on-demand, Functions-as-a- Service platform. It is
built on enterprise-grade Oracle Cloud Infrastructure and powered by the Fn Project open source engine. Use Oracle

Functions (sometimes abbreviated to just Functions) when you want to focus on writing code to meet business needs.
The serverless and elastic architecture of Oracle Functions means there\\'s no infrastructure administration or software

administration for you to perform. You don\\'t provision or maintain compute instances, and operating system software
patches and upgrades are applied automatically. Oracle Functions simply ensures your app is highly-available,
scalable,

secure, and monitored. With Oracle Functions, you can write code in Java, Python, Node, Go, and Ruby (and for
advanced use cases, bring your own Dockerfile, and Graal VM).

You can invoke a function that you\\'ve deployed to Oracle Functions from:
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The Fn Project CLI.

The Oracle Cloud Infrastructure SDKSs.

-Signed HTTP requests to the function\\'s invoke endpoint. Every function has an invoke endpoint.

-Other Oracle Cloud services (for example, triggered by an event in the Events service) or from external services. so
You can then deploy your code, call it directly or trigger it in response to events, and get billed only for the resources
consumed during the execution. Below are the oracle services that can trigger Oracle functions -Events Service

-Notification Service -AP| Gateway Service -Oracle Integration service(using OCI Signature Version 1 security policy) so
OCI Registry services cannot trigger your functions directly

QUESTION 3

Which Oracle Cloud Infrastructure (OCI) load balancer shape is used by default in OCI container Engineer for
Kubernetes?

A. 400 Mbps

B. 8000 Mbps

C. There is no default. The shape has to be specified.

D. 100 Mbps

Correct Answer: D

Specifying Alternative Load Balancer Shapes The shape of an Oracle Cloud Infrastructure load balancer specifies its
maximum total bandwidth (that is, ingress plus egress). By default, load balancers are created with a shape of

100Mbps. Other shapes are available, including 400Mbps and 8000Mbps. https://docs.cloud.oracle.com/en-
us/iaas/Content/ContEng/Tasks/contengcreatingloadbalancer.htm

QUESTION 4

You are tasked with developing an application that requires the use of Oracle Cloud Infrastructure (OCI) APIs to POST
messages to a stream in the OCI Streaming service. Which statement is incorrect?

A. The request must include an authorization signing string including (but not limited to) x-content- sha256, content-type,
and content-length headers.

B. The Content-Type header must be Set to application/j son

C. An HTTP 401 will be returned if the client\\'s clock is skewed more than 5 minutes from the server\\'s.
D. The request does not require an Authorization header.

Correct Answer: A

Emits messages to a stream. There\\'s no limit to the number of messages in a request, but the total size of a message

170-1084-22 VCE Dumps | 120-1084-22 Practice Test | 120-1084-22 Braindumps 3/4


https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html

VCE & PDF https://www.passapply.com/1z0-1084-22.html
2024 Latest passapply 1720-1084-22 PDF and VCE dumps Download

PassApply.com

or request must be 1 MiB or less. The service calculates the partition ID from the message key and stores messages
that share a key on the same patrtition. If a message does not contain a key or if the key is null, the service generates a
message key for you. The partition ID cannot be passed as a parameter. POST /20180418/streams//messages Host:
streaming-api.us-phoenix-1.oraclecloud.com { "messages": { { "key": null, "value":
"VGhIIHF1aWNrIGJyb3dulGZveCBqdW1wzZWQgb3ZIciBOaGUghGF6eSBkb2cu" }, { "key": null, "value™:
"UGFjayBteSBib3ggd2l0aCBmaXZzZIIGRvemVulGxpcXVvciBqdWdzLg=="}} } https://docs.cloud.oracle.com/en-
us/iaas/api/#/en/streaming/20180418/Message/PutMessages

QUESTION 5

You have been asked to create a stateful application deployed in Oracle Cloud Infrastructure (OCI) Container Engine for
Kubernetes (OKE) that requires all of your worker nodes to mount and write data to persistent volumes. Which two OCI
storage services should you use?

A. Use OCI File Services as persistent volume.

B. Use GlusterFS as persistent volume.

C. Use OCI Block Volume backed persistent volume.
D. Use open source storage solutions on top of OCI.
E. Use OCI Object Storage as persistent volume.
Correct Answer: AC

A PersistentVolume (PV) is a piece of storage in the cluster that has been provisioned by an administrator. PVs are
volume plugins like Volumes, but have a lifecycle independent of any individual Pod that uses the PV. A
PersistentVolumeClaim (PVC) is a request for storage by a user. It is similar to a Pod. Pods consume node resources
and PVCs consume PV resources. If you intend to create Kubernetes persistent volumes, sufficient block volume quota
must be available in each availability domain to meet the persistent volume claim. Persistent volume claims must
request a minimum of 50 gigabytes You can define and apply a persistent volume claim to your cluster, which in turn
creates a persistent volume that\\'s bound to the claim. A claim is a block storage volume in the underlying laaS provider
that\\'s durable and offers persistent storage, enabling your data to remain intact, regardless of whether the containers
that the storage is connected to are terminated. With Oracle Cloud Infrastructure as the underlying laaS provider, you
can provision persistent volume claims by attaching volumes from the Block Storage service.

170-1084-22 VCE Dumps 170-1084-22 Practice Test 170-1084-22 Braindumps

170-1084-22 VCE Dumps | 120-1084-22 Practice Test | 120-1084-22 Braindumps 4/4


https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html
http://www.tcpdf.org
https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html
https://www.passapply.com/1z0-1084-22.html

